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FH ANAY JL—T 100%
FH AN 29Ty TIZE 100%
th &R JALY )L—T 100%
k=il ANAY )L—T 100%
#£t JALY IL—T 100%
#£t ANAY JL—T 100%
OfEARZ#&
R izt PBB{# &
HH JALT )L—T 100%
FH ANAG JL—T 100%
FH ANARYPTY TR 96%
ak=ih JALY )L—T 85%
k=il ANAY )L—T 100%
#£t JALY IL—T 91%
#£t ANAG JL—T 99%
OEREZEHE
R et PBBF &
HH JALT )L—T 100%
FH ANAG JL—T 100%
ak=i JALY )L—T 100%
ak=ih ANAY )L—T 100%
#£t JALY IL—T 99%
#£t ANAY JL—T 100%
mE JALY )L—T 100%
P =] ANAY )L—T 100%
ARER JALY IL—T 100%
ARER ANAG JL—T 100%
Odb Az
R et PBB# &
HH JALT )L—T 100%
FH REA—054 N — 92%




